BIOBOWL

These questions are simple fill-in-the-blank, or multiple choice – not representative of the level of difficulty in typical exam questions. Your exam will contain more challenging multiple choice questions, more similar to the end-of-chapter questions, and quiz questions. 

Chapter 2 – Inorganic Chemistry and Water

1. What kind of chemical bond holds the nitrogen atoms together in a nitrogen molecule (be specific):











2. The atomic number of ionized sodium (Na+) is 11. This means it has 11 _____________.








3. Carbon 12 and carbon 14 differ in the number of ___________.  

4. Silicon 14Si28 has how many electrons in its outer shell?


5. Which of these atoms has the same number of valence electrons as sulfur?


7N; 8O;  6C






6. The bond between H and N in NH3 is





a. ionic


b. hydrophobic


c. polar covalent


d. non-polar covalent


e. hydrogen bond


7. In a molecule of oxygen, how many electrons are shared?


8. In an atom of Magnesium,  12Mg, which electrons have the most energy (first shell, 2nd shell, 3rd shell, 4th shell)?







9. Water has a high heat of vaporization because it takes a lot of energy to break ___________bonds.









10. One mole of fructose weighs: _______________g.




11. A basic solution is one which has a pH of __________




12. A compound that releases H+ ions into a solution is a(an)



13. A solution with a pH of 4 has _______ times more H+ ions that one with a pH of 6.  

14. One liter of a solution has 10-3 moles (.001M) of H+ ions in it. The pH is


15. Compounds that accept H+ ions are _____________  




Chapter 3 Organic Molecules, functional groups
16. A CHO group is commonly found in (on) 


17. An example of a compound with an amino group is _________    

18. A hydroxyl group is found in _____________




19. Fructose and glucose are ____________ of one another.        

20. Triglycerides are composed of one glycerol and three ___________    

21. Fatty acids of plant origin, found in oils, tend to be 

   

22. Which of the following is not an amino acid?





a. cysteine


b. glycine


c. adenine


d. threonine

23. Phospholipids are important in the structure of the cell’s ____________    

24. If a vegetable oil is hydrogenated during processing


a. it has more double bonds


b. it is more liquid


c. it has fewer hydrogen atoms


d. it has fewer double bonds







25. T or F.  Cholesterol is a precursor for sex hormones



26. A molecule with 6 carbon atoms, 12 hydrogens and 6 oxygens is ___________

27. Polymers are put together together through a process known as ___________

28. When a peptide bond breaks


a. a water molecule is released


b. a water molecule is used


c. oxygen is required


d. fatty acids are produced






29. Starch is a polymer of _____________



30. In sickle cell disease, the protein which is affected is 



31. Glycogen is a 


a. polysaccharide


b. monosaccharide


c. structural protein


d. phospholipids






32. A molecule has 12 carbons, 22 hydrogens and 11 oxygens. It is a __________________ 







33. An alpha helix represents the _____________ structure of a protein


34. Enzymes exhibit at least ______________ structure.




35. Amino acids with hydrophobic R group are likely to be on the _________________ of a folded cytoplasmic protein.


a. inside


b. outside


c. both inside and outside






36. An example of a purine found in DNA is 




37. An example of a pyrimidine found in RNA is 




38. Amino acids are to proteins as ____________ are to nucleic acids


39. A nucleotide consists of a base, sugar and __________




40. The highest level of structure in the Hb molecule is ______________



41. ____________ bonds are important in maintaining a protein’s secondary structure   
42. Disulfide bonds help to maintain a protein’s __________ structure



43. Mutation 508 describes a mutation in someone who has
__________________.  
44. This mutation (508) means that the 508th amino acid, phe, is


a. substituted by valine








b. deleted from a protein


c. inserted into a protein


d. substituted in place of glutamic acid

Chapter 4 & 5 - Cell Structure & Membranes 
45. A cell without a nucleus or internal organelles is __________________   

46. The part of a mitochondrion in which enzyme, DNA and ribosomes are found is the ____________









47. Intracellular digestion using hydrolytic enzymes is accomplished by ____________.










48. Rough ER is engaged in synthesizing mainly ___________


49. The location of a DNA molecule in a prokaryotic cell is the


50. Name a specific protein which would be found in the

cytoskeleton.









51. Name three components of the endomembrane system.



52. Modifying and packaging proteins for export is the role of:


53. What is a function of plastids other than photosynthesis?


54. CFTR moves ions by the process of ________________.


55. The bilayer in a biological membrane is made of 



56. T or F.  The phosphate ends of phospholipids are hydrophobic


57. T or F Proteins can move around in membranes





58. T or F Facilitated diffusion is always an energy-requiring process.

59. T or F. In simple diffusion, a solute moves down its concentration gradient, but in facilitated diffusion, a solute moves against its gradient. 



60. In primary active transport, the energy source is ________


61. The sodium potassium pump is classified as a _____________.



62. If you have two solutions which differ in solute concentration, the one which attracts water is __________ to the other one.





63. T or F. An animal cell will burst if placed into a strongly hypertonic solution.   
64. T or F. A plant cell will burst if placed into a strongly hypotonic solution.

65. The movement of water from hypotonic to hypertonic solution across a membrane is a process of


a. simple diffusion


b. movement by a carrier protein


c. primary active transport


d. secondary active transport


e. osmosis

66. A small fat soluble molecule such as methane will most likely cross a cell membrane from high to low concentration by the process of


a. simple diffusion


b. facilitated diffusion


c. active transport


d. osmosis

67. Of the following processes, which one is highly specific?


a. phagocytosis


b. exocytosis


c. receptor-mediated endocytosis


d. simple diffusion

68. A symport protein moves two solutes into a cell; one is sodium ions, which move from high to low concentration; the other is glucose which moves from low to high concentration. No ATP is used. The movement of glucose would be best described as -____________________.


a. primary active transport


b. secondary active transport


c. facilitated diffusion


d. osmosis

